HENLY carDErAs

A2
Zq(a) VZir
C:l/_
R
L = \S
yoO

LT isa on
(b) C = 1S |

YA 1 _
210

3A
i 'L‘ - 14 -3a = O
0: = '-Pﬂ
Nobe 3
vT ~ (_"“LA) +3A = O




HeAMRY (ARADE AN AS

1) (gFT oop

Z-15

1A

L 1a

AT NOOE A AT  NobE 8!

Ly ¥{, ~2 =0 -{7-%-3%=0

i, +(-0)-2 =9 (e = -|ogE)
E = |'L‘A]

AT  NODE C. AT NeosE D

4 +7 13 =0 2 -ly -1 =0

(-1) +F =iz = O [iq = -24
g < "'SA'




hewny

2.20 e 7 g -
> L
' ° ANA_-
3év

— 36V & ‘1‘:0 .-.*'g,'o

V = (n
DIFFELErt APPROACH -
2L t t4"0 “'S.‘o = Q
o = MA
2Vo
NODE A
10 +Yy # Vo = O
VEWR = Vo = By Cy :‘%Vo
o +-!—1-Vo+2Vo:o —%Vo = ~10

l'%:'m:-m
4




HEMU CACDSVAS

-8 +4¢(, -o
L, =1 A
Nooe_a Qi voop v
L —tle -2 =0 -2 +CK~,,°—I) +12 =0
b -1 -2 =0 -2 N+ + (L =9
\L: -|A

BL: o) _n__j




Hevay cavbdaN/AS

2.15




Sov

5ix
EN
Ha Yn
*/\/‘/‘_ﬁ ey ’\/\/\/\

v ovTEN Loof:

=50 “5x + &0 = O
~S'x +8i0 = 50

KVe  Lowe  LepT Loof:

=50 "'q'lx -20 = O
i = &0
1< =20A

-5(-20) +&io = SO
100 4+ £,0= SO

to = -£0 - - 6.2S A
8

Heamy catPoMmAS



